o—o ‘ o o—oblld Forenkling av polynom

namn: Datum: Poéng:
330 4+ x— 8x + 4% — 4x 6x+ x> — 3(8)(2 + 4x2) — 3%’
A+ T — 4% + 9% — 82 6x° + 2% + 6x° — 2(6x3 + x3)
2% + 9x + 3x% + 4(4x — 8x) 6x° — 20 — 3x — 4o® + 27
Sx— 8 —3x° + x+ 3x° 4% + 8x* — 5x% — 4(3x — 6x)
T+ 20 + 8x% + 2 — 4x? ox> — 5% + 8% — 5% — 5x°
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Forenkling av polynom

namn:

300 4+ x— 8x + 4 — 4y
30 + 4 — 1lx

4x+ T — 4o + 9x% — 8
45 + 4y

2x% + 9x + 3x% + 4(4x — 8)

5%% — Tx

5x— 8¢ = 3x° + x + 3x?
—11x° + 3% + 6x

T+ 2% + &% + 207 — 4y
20 + 62 + Tx

Datum:

6x + x2 — 3(8x + 4x%) — 3x?
—38x%” + 6x

6x° + 20 + 6x° — 2(6x° + x°)
—6x° + 62

6% — 2% — 3x — 4® + 2x?

2 — 3x

4% + 8x% — 5x% — 4(3x — &)
4 + 372 + 12x

9 — 5 + 8% — 5x* — 5x¢°
— + 3y?
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